
CORRUGATED ROOF- FLAT APPLICATION

Detail A

Middle clamp (U-bracket)
holding panels and
connecting to profile

End clamp (Z-Bracket)
holding panels and
connecting to Aluminum
profile

PV-SOLAR PANELS
FLAT PLATE
(JOINING PIECE)

FLAT & SPRING WASHER

M8 X 20MM

40 X 40 ALUM. PROFILE

Detail B Detail C

SOLAR PANEL POSITION IN
LANDSCAPE

Join plate connection

Detail D

Top view Bottom view

Rivnut fixing and
L-Bracket fixing

Rivnut fixing and
L-Bracket fixing

FLAT APPLICATIONFRONT VIEW

SIDE VIEW

DETAIL A DETAIL B DETAIL DDETAIL C

DETAIL E

PV-SOLAR PANELS
M8 CAP-SCREW
Z-BRACKET

40 X 40 ALUMINUM PROFILE

M8 X 20 MM BOLT

FLAT & SPRING WASHER
HEX-NUT

L-BRACKET
M8 X 20 MM BOLT

RUBBER GASKET
RIVNUT

SQUARE-NUT
(INSIDE 40 X 40 PROFILE SLOT )

CORRUGATED ROOF SHEETING

FLAT & SPRING WASHER

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(SIDE-VIEW)

Detail E
PV-SOLAR PANELS
Z-BRACKET
M8 CAP-SCREW
SQUARE-NUT
L-BRACKET
FLAT & SPRING WASHER
M8 X 20 MM BOLT
M8 X 20 MM BOLT
FLAT & SPRING WASHER
RIVET
IBR-ROOF SHEETING

M8 CAP-SCREW
PV-SOLAR PANELS
SQUARE-NUT
(INSIDE 40X40 PROFILE SLOT)

M8 CAP-SCREW

40X40 ALUM. PROFILE

PV-SOLAR PANELS
(END-CLAMP)Z-BRACKET

SQUARE-NUT
(INSIDE 40X40 ALUM.
PROFILE SLOT) 40X40 ALUM. PROFILE

MIDDLE CLAMP (U-BRACKET)

               Across the ribs application

TWO 40X40 ALUMINIUM PROFILES
ACTING AS ONE JOINED
TOGETHER BY A FLAT PLATE

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(FRONT-VIEW)

   Landscape panel orientation

   Portrait panel orientation 300 W 150 W

250W

   Portrait panel orientation

   Portrait panel orientation

REV

R
E

V
IS

IO
N

S

DESCRIPTION DRAWN
DATE

CH'KED
DATE

R
E

FE
R

E
N

C
E

 D
R

G
'S DRAWING No. DESCRIPTION

SCALE
DRG No.

SHT No.
REV No.

CLIENT;

TITLE; CORRUGATED FLAT APPLICATION

CONTRACT
NUMBER

DRAWN

CHECKED

APPROVED

AS SHOWN

01
001

Cosmos. P

Nephat. M

CORRUGATED ROOF- FLAT APPLICATION

Detail A

Middle clamp (U-bracket)
holding panels and
connecting to profile

End clamp (Z-Bracket)
holding panels and
connecting to Aluminum
profile

PV-SOLAR PANELS
FLAT PLATE
(JOINING PIECE)

FLAT & SPRING WASHER

M8 X 20MM

40 X 40 ALUM. PROFILE

Detail B Detail C

SOLAR PANEL POSITION IN
LANDSCAPE

Join plate connection

Detail D

Top view Bottom view

Rivnut fixing and
L-Bracket fixing

Rivnut fixing and
L-Bracket fixing

FLAT APPLICATIONFRONT VIEW

SIDE VIEW

DETAIL A DETAIL B DETAIL DDETAIL C

DETAIL E

PV-SOLAR PANELS
M8 CAP-SCREW
Z-BRACKET

40 X 40 ALUMINUM PROFILE

M8 X 20 MM BOLT

FLAT & SPRING WASHER
HEX-NUT

L-BRACKET
M8 X 20 MM BOLT

RUBBER GASKET
RIVNUT

SQUARE-NUT
(INSIDE 40 X 40 PROFILE SLOT )

CORRUGATED ROOF SHEETING

FLAT & SPRING WASHER

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(SIDE-VIEW)

Detail E
PV-SOLAR PANELS
Z-BRACKET
M8 CAP-SCREW
SQUARE-NUT
L-BRACKET
FLAT & SPRING WASHER
M8 X 20 MM BOLT
M8 X 20 MM BOLT
FLAT & SPRING WASHER
RIVET
IBR-ROOF SHEETING

M8 CAP-SCREW
PV-SOLAR PANELS
SQUARE-NUT
(INSIDE 40X40 PROFILE SLOT)

M8 CAP-SCREW

40X40 ALUM. PROFILE

PV-SOLAR PANELS
(END-CLAMP)Z-BRACKET

SQUARE-NUT
(INSIDE 40X40 ALUM.
PROFILE SLOT) 40X40 ALUM. PROFILE

MIDDLE CLAMP (U-BRACKET)

               Across the ribs application

TWO 40X40 ALUMINIUM PROFILES
ACTING AS ONE JOINED
TOGETHER BY A FLAT PLATE

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(FRONT-VIEW)

   Landscape panel orientation

   Portrait panel orientation 300 W 150 W

250W

   Portrait panel orientation

   Portrait panel orientation

REV

R
E

V
IS

IO
N

S

DESCRIPTION DRAWN
DATE

CH'KED
DATE

R
E

FE
R

E
N

C
E

 D
R

G
'S DRAWING No. DESCRIPTION

SCALE
DRG No.

SHT No.
REV No.

CLIENT;

TITLE; CORRUGATED FLAT APPLICATION

CONTRACT
NUMBER

DRAWN

CHECKED

APPROVED

AS SHOWN

01
001

Cosmos. P

Nephat. M

Corrugated Roof 
Flat application

Across the ribs application

Join plate connection

Top view Bottom view

Rivnut fixing and
L-Bracket fixing

Rivnut fixing and
L-Bracket fixing

Please note that all Flat roof kits are supplied for Portrait orientation only. Landscape can be requested.

FRONT VIEW

SIDE VIEW



If you have any questions, contact us at: info@voltex.co.za or 011 879 2000 
www.voltex.co.za

Portrait panel orientation 250W Portrait panel orientation 300W

Detail A Detail B Detail C

Middle clamp (U-bracket) holding 
panels and connecting to profile.

End clamp (Z-Bracket) holding panels 
and connecting to Aluminum profile.

Two 40x40 Aluminum profiles acting as one 
joined together by a flat plate.

This is not included in the kit, price is available on request.

Detail EDetail D

40x40 Aluminum profiles supporting panel 
connected to roof sheet by an L-Bracket.
(Front View)

40x40 Aluminum profiles supporting panel connected 
to roof sheet by an L-Bracket. (Side View)

CORRUGATED ROOF- FLAT APPLICATION

Detail A

Middle clamp (U-bracket)
holding panels and
connecting to profile

End clamp (Z-Bracket)
holding panels and
connecting to Aluminum
profile

PV-SOLAR PANELS
FLAT PLATE
(JOINING PIECE)

FLAT & SPRING WASHER

M8 X 20MM

40 X 40 ALUM. PROFILE

Detail B Detail C

SOLAR PANEL POSITION IN
LANDSCAPE

Join plate connection

Detail D

Top view Bottom view

Rivnut fixing and
L-Bracket fixing

Rivnut fixing and
L-Bracket fixing

FLAT APPLICATIONFRONT VIEW

SIDE VIEW

DETAIL A DETAIL B DETAIL DDETAIL C

DETAIL E

PV-SOLAR PANELS
M8 CAP-SCREW
Z-BRACKET

40 X 40 ALUMINUM PROFILE

M8 X 20 MM BOLT

FLAT & SPRING WASHER
HEX-NUT

L-BRACKET
M8 X 20 MM BOLT

RUBBER GASKET
RIVNUT

SQUARE-NUT
(INSIDE 40 X 40 PROFILE SLOT )

CORRUGATED ROOF SHEETING

FLAT & SPRING WASHER

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(SIDE-VIEW)

Detail E
PV-SOLAR PANELS
Z-BRACKET
M8 CAP-SCREW
SQUARE-NUT
L-BRACKET
FLAT & SPRING WASHER
M8 X 20 MM BOLT
M8 X 20 MM BOLT
FLAT & SPRING WASHER
RIVET
IBR-ROOF SHEETING

M8 CAP-SCREW
PV-SOLAR PANELS
SQUARE-NUT
(INSIDE 40X40 PROFILE SLOT)

M8 CAP-SCREW

40X40 ALUM. PROFILE

PV-SOLAR PANELS
(END-CLAMP)Z-BRACKET

SQUARE-NUT
(INSIDE 40X40 ALUM.
PROFILE SLOT) 40X40 ALUM. PROFILE

MIDDLE CLAMP (U-BRACKET)

               Across the ribs application

TWO 40X40 ALUMINIUM PROFILES
ACTING AS ONE JOINED
TOGETHER BY A FLAT PLATE

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(FRONT-VIEW)

   Landscape panel orientation

   Portrait panel orientation 300 W 150 W

250W

   Portrait panel orientation

   Portrait panel orientation

REV

R
E

V
IS

IO
N

S

DESCRIPTION DRAWN
DATE

CH'KED
DATE

R
E

FE
R

E
N

C
E

 D
R

G
'S DRAWING No. DESCRIPTION

SCALE
DRG No.

SHT No.
REV No.

CLIENT;

TITLE; CORRUGATED FLAT APPLICATION

CONTRACT
NUMBER

DRAWN

CHECKED

APPROVED

AS SHOWN

01
001

Cosmos. P

Nephat. M

CORRUGATED ROOF- FLAT APPLICATION

Detail A

Middle clamp (U-bracket)
holding panels and
connecting to profile

End clamp (Z-Bracket)
holding panels and
connecting to Aluminum
profile

PV-SOLAR PANELS
FLAT PLATE
(JOINING PIECE)

FLAT & SPRING WASHER

M8 X 20MM

40 X 40 ALUM. PROFILE

Detail B Detail C

SOLAR PANEL POSITION IN
LANDSCAPE

Join plate connection

Detail D

Top view Bottom view

Rivnut fixing and
L-Bracket fixing

Rivnut fixing and
L-Bracket fixing

FLAT APPLICATIONFRONT VIEW

SIDE VIEW

DETAIL A DETAIL B DETAIL DDETAIL C

DETAIL E

PV-SOLAR PANELS
M8 CAP-SCREW
Z-BRACKET

40 X 40 ALUMINUM PROFILE

M8 X 20 MM BOLT

FLAT & SPRING WASHER
HEX-NUT

L-BRACKET
M8 X 20 MM BOLT

RUBBER GASKET
RIVNUT

SQUARE-NUT
(INSIDE 40 X 40 PROFILE SLOT )

CORRUGATED ROOF SHEETING

FLAT & SPRING WASHER

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(SIDE-VIEW)

Detail E
PV-SOLAR PANELS
Z-BRACKET
M8 CAP-SCREW
SQUARE-NUT
L-BRACKET
FLAT & SPRING WASHER
M8 X 20 MM BOLT
M8 X 20 MM BOLT
FLAT & SPRING WASHER
RIVET
IBR-ROOF SHEETING

M8 CAP-SCREW
PV-SOLAR PANELS
SQUARE-NUT
(INSIDE 40X40 PROFILE SLOT)

M8 CAP-SCREW

40X40 ALUM. PROFILE

PV-SOLAR PANELS
(END-CLAMP)Z-BRACKET

SQUARE-NUT
(INSIDE 40X40 ALUM.
PROFILE SLOT) 40X40 ALUM. PROFILE

MIDDLE CLAMP (U-BRACKET)

               Across the ribs application

TWO 40X40 ALUMINIUM PROFILES
ACTING AS ONE JOINED
TOGETHER BY A FLAT PLATE

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(FRONT-VIEW)

   Landscape panel orientation

   Portrait panel orientation 300 W 150 W

250W

   Portrait panel orientation

   Portrait panel orientation

REV

R
E

V
IS

IO
N

S

DESCRIPTION DRAWN
DATE

CH'KED
DATE

R
E

FE
R

E
N

C
E

 D
R

G
'S DRAWING No. DESCRIPTION

SCALE
DRG No.

SHT No.
REV No.

CLIENT;

TITLE; CORRUGATED FLAT APPLICATION

CONTRACT
NUMBER

DRAWN

CHECKED

APPROVED

AS SHOWN

01
001

Cosmos. P

Nephat. M

CORRUGATED ROOF- FLAT APPLICATION

Detail A

Middle clamp (U-bracket)
holding panels and
connecting to profile

End clamp (Z-Bracket)
holding panels and
connecting to Aluminum
profile

PV-SOLAR PANELS
FLAT PLATE
(JOINING PIECE)

FLAT & SPRING WASHER

M8 X 20MM

40 X 40 ALUM. PROFILE

Detail B Detail C

SOLAR PANEL POSITION IN
LANDSCAPE

Join plate connection

Detail D

Top view Bottom view

Rivnut fixing and
L-Bracket fixing

Rivnut fixing and
L-Bracket fixing

FLAT APPLICATIONFRONT VIEW

SIDE VIEW

DETAIL A DETAIL B DETAIL DDETAIL C

DETAIL E

PV-SOLAR PANELS
M8 CAP-SCREW
Z-BRACKET

40 X 40 ALUMINUM PROFILE

M8 X 20 MM BOLT

FLAT & SPRING WASHER
HEX-NUT

L-BRACKET
M8 X 20 MM BOLT

RUBBER GASKET
RIVNUT

SQUARE-NUT
(INSIDE 40 X 40 PROFILE SLOT )

CORRUGATED ROOF SHEETING

FLAT & SPRING WASHER

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(SIDE-VIEW)

Detail E
PV-SOLAR PANELS
Z-BRACKET
M8 CAP-SCREW
SQUARE-NUT
L-BRACKET
FLAT & SPRING WASHER
M8 X 20 MM BOLT
M8 X 20 MM BOLT
FLAT & SPRING WASHER
RIVET
IBR-ROOF SHEETING

M8 CAP-SCREW
PV-SOLAR PANELS
SQUARE-NUT
(INSIDE 40X40 PROFILE SLOT)

M8 CAP-SCREW

40X40 ALUM. PROFILE

PV-SOLAR PANELS
(END-CLAMP)Z-BRACKET

SQUARE-NUT
(INSIDE 40X40 ALUM.
PROFILE SLOT) 40X40 ALUM. PROFILE

MIDDLE CLAMP (U-BRACKET)

               Across the ribs application

TWO 40X40 ALUMINIUM PROFILES
ACTING AS ONE JOINED
TOGETHER BY A FLAT PLATE

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(FRONT-VIEW)

   Landscape panel orientation

   Portrait panel orientation 300 W 150 W

250W

   Portrait panel orientation

   Portrait panel orientation

REV

R
E

V
IS

IO
N

S

DESCRIPTION DRAWN
DATE

CH'KED
DATE

R
E

FE
R

E
N

C
E

 D
R

G
'S DRAWING No. DESCRIPTION

SCALE
DRG No.

SHT No.
REV No.

CLIENT;

TITLE; CORRUGATED FLAT APPLICATION

CONTRACT
NUMBER

DRAWN

CHECKED

APPROVED

AS SHOWN

01
001

Cosmos. P

Nephat. M

CORRUGATED ROOF- FLAT APPLICATION

Detail A

Middle clamp (U-bracket)
holding panels and
connecting to profile

End clamp (Z-Bracket)
holding panels and
connecting to Aluminum
profile

PV-SOLAR PANELS
FLAT PLATE
(JOINING PIECE)

FLAT & SPRING WASHER

M8 X 20MM

40 X 40 ALUM. PROFILE

Detail B Detail C

SOLAR PANEL POSITION IN
LANDSCAPE

Join plate connection

Detail D

Top view Bottom view

Rivnut fixing and
L-Bracket fixing

Rivnut fixing and
L-Bracket fixing

FLAT APPLICATIONFRONT VIEW

SIDE VIEW

DETAIL A DETAIL B DETAIL DDETAIL C

DETAIL E

PV-SOLAR PANELS
M8 CAP-SCREW
Z-BRACKET

40 X 40 ALUMINUM PROFILE

M8 X 20 MM BOLT

FLAT & SPRING WASHER
HEX-NUT

L-BRACKET
M8 X 20 MM BOLT

RUBBER GASKET
RIVNUT

SQUARE-NUT
(INSIDE 40 X 40 PROFILE SLOT )

CORRUGATED ROOF SHEETING

FLAT & SPRING WASHER

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(SIDE-VIEW)

Detail E
PV-SOLAR PANELS
Z-BRACKET
M8 CAP-SCREW
SQUARE-NUT
L-BRACKET
FLAT & SPRING WASHER
M8 X 20 MM BOLT
M8 X 20 MM BOLT
FLAT & SPRING WASHER
RIVET
IBR-ROOF SHEETING

M8 CAP-SCREW
PV-SOLAR PANELS
SQUARE-NUT
(INSIDE 40X40 PROFILE SLOT)

M8 CAP-SCREW

40X40 ALUM. PROFILE

PV-SOLAR PANELS
(END-CLAMP)Z-BRACKET

SQUARE-NUT
(INSIDE 40X40 ALUM.
PROFILE SLOT) 40X40 ALUM. PROFILE

MIDDLE CLAMP (U-BRACKET)

               Across the ribs application

TWO 40X40 ALUMINIUM PROFILES
ACTING AS ONE JOINED
TOGETHER BY A FLAT PLATE

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(FRONT-VIEW)

   Landscape panel orientation

   Portrait panel orientation 300 W 150 W

250W

   Portrait panel orientation

   Portrait panel orientation

REV

R
E

V
IS

IO
N

S

DESCRIPTION DRAWN
DATE

CH'KED
DATE

R
E

FE
R

E
N

C
E

 D
R

G
'S DRAWING No. DESCRIPTION

SCALE
DRG No.

SHT No.
REV No.

CLIENT;

TITLE; CORRUGATED FLAT APPLICATION

CONTRACT
NUMBER

DRAWN

CHECKED

APPROVED

AS SHOWN

01
001

Cosmos. P

Nephat. M

CORRUGATED ROOF- FLAT APPLICATION

Detail A

Middle clamp (U-bracket)
holding panels and
connecting to profile

End clamp (Z-Bracket)
holding panels and
connecting to Aluminum
profile

PV-SOLAR PANELS
FLAT PLATE
(JOINING PIECE)

FLAT & SPRING WASHER

M8 X 20MM

40 X 40 ALUM. PROFILE

Detail B Detail C

SOLAR PANEL POSITION IN
LANDSCAPE

Join plate connection

Detail D

Top view Bottom view

Rivnut fixing and
L-Bracket fixing

Rivnut fixing and
L-Bracket fixing

FLAT APPLICATIONFRONT VIEW

SIDE VIEW

DETAIL A DETAIL B DETAIL DDETAIL C

DETAIL E

PV-SOLAR PANELS
M8 CAP-SCREW
Z-BRACKET

40 X 40 ALUMINUM PROFILE

M8 X 20 MM BOLT

FLAT & SPRING WASHER
HEX-NUT

L-BRACKET
M8 X 20 MM BOLT

RUBBER GASKET
RIVNUT

SQUARE-NUT
(INSIDE 40 X 40 PROFILE SLOT )

CORRUGATED ROOF SHEETING

FLAT & SPRING WASHER

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(SIDE-VIEW)

Detail E
PV-SOLAR PANELS
Z-BRACKET
M8 CAP-SCREW
SQUARE-NUT
L-BRACKET
FLAT & SPRING WASHER
M8 X 20 MM BOLT
M8 X 20 MM BOLT
FLAT & SPRING WASHER
RIVET
IBR-ROOF SHEETING

M8 CAP-SCREW
PV-SOLAR PANELS
SQUARE-NUT
(INSIDE 40X40 PROFILE SLOT)

M8 CAP-SCREW

40X40 ALUM. PROFILE

PV-SOLAR PANELS
(END-CLAMP)Z-BRACKET

SQUARE-NUT
(INSIDE 40X40 ALUM.
PROFILE SLOT) 40X40 ALUM. PROFILE

MIDDLE CLAMP (U-BRACKET)

               Across the ribs application

TWO 40X40 ALUMINIUM PROFILES
ACTING AS ONE JOINED
TOGETHER BY A FLAT PLATE

40X40 ALUMINIUM PROFILE
SUPPORTING PANEL  CONNECTED
TO ROOF SHEET BY AN L-BRACKET
(FRONT-VIEW)

   Landscape panel orientation

   Portrait panel orientation 300 W 150 W

250W

   Portrait panel orientation

   Portrait panel orientation

REV

R
E

V
IS

IO
N

S

DESCRIPTION DRAWN
DATE

CH'KED
DATE

R
E

FE
R

E
N

C
E

 D
R

G
'S DRAWING No. DESCRIPTION

SCALE
DRG No.

SHT No.
REV No.

CLIENT;

TITLE; CORRUGATED FLAT APPLICATION

CONTRACT
NUMBER

DRAWN

CHECKED

APPROVED

AS SHOWN

01
001

Cosmos. P

Nephat. M

FLAT APPLICATION


